The measurement of national income

1. Consider the following cases. Determine if the activity in these cases should be included in the GDP? If the activity is included, by how much will the GDP be changed?

(a) Mr. Wong sells his flat to Mr. Chan for 4$300000. He then purchase a new one from a property developer at $600000.

(b) Mr. Cheung buys a Japanese camera for $4000.
(c) Mr. Chow spends $10000 on the shares of a company and pays $500 as the broker's commission.
(d) Mr. Lee gets $30000 from the government as his old age allowance.
2. Explain whether the following items should be includes in the calculation of Hong Kong's GNP.

(a) the funds raised from the Millonwalk.

(b)  The part of the public assistance which the needy spent on the transport.
3. Determine whether the following cases should be included in the GNP or GDP of the Hong Kong or both?

(a) The rental income earned by a Hong Kong resident from owning a flat in Canada.

(b) A US businessman has been working in Hong Kong for years and he earned an annual profit of $1,000,000 in Hong Kong.
(c) The volleyball team from China and Japan played as a short visit to Hong Kong for a tournament and earned $10,000.
(d) The wage earns of Filipino maids in Hong Kong
4. The holding of Olympic Game 2000 is favourable to the GDP of Australia. Explain this by referring to the TWO demand side factors. 
5. Suppose only two goods are produced in this country. Is the living standard of 1999 higher than that in 1990 ?(Hint: Calculate the GDP of 1999 using the price of 1990)

Price (1990)
Output

(1990)
Mart Value (1990)
Price 

(1999)
Output

(1999)
Mart value

(1999)

Bread

Shirt
$10

$150

$10,000

$22,500
$20

$250

$16,000

$37500

GDP


$


$

GDP of 1999 at 1990 market price =

6. Calculate the GDP, using the value-added approach.

Producer 
Output 
Market value ($)
Value-added($)

Farmer
wheat
100


Miller
flour
250


Noodle-maker 
noodled
400


GDP=

7. What are the advantages of the value-added over the output approach?

8. Are the following transactions included in calculating the GDP? Explain.

(a) Peter painted his house himself which would have cost $5000 if the painting was done by painters.

(b) A Japanese tourist spend $400 in the Ocean Park.

(c) Irene is a private tutor of a primary 2 student and earns $400 per month.

(d) John earned $50,000 from illegal smuggling of cigarettes

9. Suppose Mary pays $5,000 for a second-hand computer. Should this $5,000 be   counted in the GDP? Explain.

10. Does an increase in money GDP imply an increase in output level and living standard?

11. Complete the following table.

Year
Nominal GDP
Price Index 
Real GDP

1995




1996




1997




1998




1999 




2000




12. Which country enjoys a better living standard?


Population
Real GDP
Real GDP per capita

Country A
8,000
$1200,000


Country B
40,000
$4800,000


13

(a) Mr. Lau buys $5,000 raw materials and makes some furniture for himself which if sold in the market, would be valued at $10,000. By how will the GDP be increased?

(b) How would the GDP be affected suppose now Mr. Lau sells the furniture?

14. John buys a second-hand car. Suppose a car dealer arranges the sale for John. John 

pays $20,000 for the car and $1,000 as the dealer's service charge. How much would be included in the GDP?

15. In early 1995, Mr. Ip earned a commission of $20,000 by helping Mr. A sell a flat to Miss B at a price of $2,000,000. Explain whether each of the following statements is true or not:

(a) The commission should be included in Hong Kong's GDP for 1995.

(b) If the flat is currently under construction and to be completed next year, nothing to Hong Kong's GDP for 1995.

16. Suppose in a car manufacturing firm, the value of stock at Dec., 1997,Dec.,1998 and Dec.,1999 were $10,000;$6,000 and $8,000 respectively. How much should be included as the change in stock in the GDP of 1998 and 1999?
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